_ WwWW. recruit ment.guru _
i ot OF § fows & ug & It fe'9 yest @ o Tl fowr 2ty §37 fe6: (0. 61-68)
wH A8 AN & 782 §R 397 21 7 9 4 fauat 37 see ©F 9 € JaW 3 ulust 5 ooy 2
ga=a= wuE foat meraet =T 7 ot 7 fow € 5319 503 fovrse foas o0 05 5o, 938w,
famerara, doedtut »iF d=EtHa o §Ewer T farwr 31 arm o1 femwaiva wT awt 3 wa
drEr-aa yms T farr 1 oo rg s IR 2 gogg =g T oo Tivae wid St S Ty S HE Y
& waed w2 fe 7 T wiewr feaat a9s =6t 09 few 39t o arfea-awried Fdtar safawr a far
3 fam fog wufenr &8 OUWEDHT wiF SO StEtdt T e ol ful-use owe
Fo=t-gI=T O Feee ¥TET BE 998 ¥ 8 Ugw Fet 7| fema-arfaer few fuse wat ot faw
& fife =7 Ohii-U=e G497 3F a6 wF Hiuer 27 sl &t & fagr & 97 o 2 waa 58t
T It 9%, FE= dfIeT Il &7 =0 3G O WE §ETIEE S WesTeT 341 5% =7 St asi
fom feos get-ua, Satwi-ga g HTawt § niaeT Jg9n o wes= fea-fow =0 st a&i
fedat & fiee & pas oo vy gianr & -afoft 578 a9 at9 7 faor 7 aruast fag vetet
o 7w oE fymerg gigr & foor 1) femmatug o8 o wa 9ot o fa fAE ot e 3 dar-aat
T Tt T Tw, Hatewt § =1 Sufer &t w7 oo @798 54t T o 06 wid §-367d o0 9 3 a6l
H'RE =991 © W@ & g SRife 5 S0 e T S0 C AR 9 & o dn | TafHe g € &7 '3
Fo-=w d¢ fog or gar J fioer oy & v fee oda 5ae § Aigs f siew = fogr J1vee
AT v T Ugs T S Heraeet fAge fagmt & fawt o fiore 5= & afy ot 05|

61 | nig & AWH o oaa fag it T and 3
(1) FuwaE T et i2) Goafaa feaw T famr 3
3 FFERE o Al e daH S UlgET TR T AT T (4) T J aret 3
62 | fesmratuz fag va ot I w3 g o fa€ yos 7 famr 37
(1) fea 79 av 19 w2 goa= 561 T faor O
i2) feT gymmae aas T e T
13} feg &fzg aoar-atvat &t fe=r aam T faar 31
(4) Aaard few § Ja= =¥t a3 5T /9 a0t
63 | yga =8 fuf v o= faf diar ater &7
i1) ufa="99 SEH a5 i2) faw G5asr a9
50 | yp et o aas fag ate Ao i
(1) HTRH STawit & Hriimr 3 Bo5T &2 58 12) fed 3t & fvme ava
(3] UT =T TEHST aag 14) feg 3 femrer faw 09 @9 a9d
85 | gmuarat few watat s fad fror =aar@ dlar ater &7
(1) HETET § HES BEm e St aretet o6 i2) femT BEt SUtsT Eraeal A=T GuseT I
(3} femra widar 7 (4) HataT @ AR &5 fyEerg &ar T |
86 | grrmr =aar 2 yfdt fam i fe 3 2t &7
(1) 22t TS 3T HE T I Taa= feg (2) wETEn & aR fo9 ans aad
(3 FaAt Ot TH F9H i4) AHrT AT o et afas aaa
67 | pafimara st et T faar
(1) TafHa WAETsT F WEES WS & faar J (2 TEH e yaa T faar
(3 Fa=w o fewwr faor g i4) fegt fo @t < &t
68 | fagmt dfwt 2'n d= A afa famr 7
(1) HEd E9FT 3 9413 Uaa T (2)8d T8 §H
(3) O9H © B (4) femt foF &€t <1 &t
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i fed erfw-tw § fours a7 uiy & T8t '3 ymet @ e §f'aet fad’ few she §aw el Q. 69-
75)

wWH & THH WO 27 S

Five 7= fegug |

Ta w3 feare &t wag

TgEargSieE

&7 dv=T =t arreT deET

& = ot #t=r

H & HTE By GEEr

I & 58 g |

83 | few arfe-aw gt ufasinit & gat § rods eaaw fea fai:

i1 79 & A few ge8 =9 v aateT 3|

(2) §0 T BT =4 famir T wiE 7 a=-gHt feg e avE areer gdter 3
(3 ETWT fema e ies feemmarsa e T I

i4) F=-gHt ara= B8 &t a5t T

0 | gargdt v ars-nEeE mae fagar @7

(1) o= Taar i2) 9=t (3) faars (4) §¥1 =1 BRIT
| feswg v fedut mee faamr 37
L |weefr 00 ifest 0 (EfesAEt (4 AFEE
2 | By dfET < avaeT e G e &t Jler fou fan sdere ©f =99 /St At @
(1) 3y mEaa i2) IHET BT i3) nifgEEst WdEE  (4) WEYH WEEd

73 | e v ag-wanw g e fegt e faasr sla 37
(1 THET T HIET  (2) de e Uefer  (3) feeaer »F Geae (4) e wid Jier

M FEemms I Eta=I?

i1) 4 =T iz feawgsr  (nG83fmm o (4) FIgEs ==
75 | fon arfe-dv fov fags Saw’ o save 37

(1) FF aw i2) fiars am (3) 57 aw (4) gaT=t aw
76 | wad i few e freeet o faast fedt st e st & 7

(1) F=H gH wfTHmus (2) Ayfaa nifmerus

(3) femmatarg mifmwmus (4) Ioaat TIT=an TS
7 |t gEr iy = fenrage v 3=yds 08 nieT B9Et o 7

(1) (2) mat (3) mfee (4) uzT &t
78 | faEt g g9 wUE s e fee fiwer a
__|(mufemtaer (2 geaE (3) W= FH" (4) 99 FHT
8| ot et e e P vew et 05 7

{1)at (2) famas &t (3) 8 == 4) mfee
0 | g fiogt 7w Fgs fed afes aeer &1

(1) = Fgr (2) gt Fwr (3) ufast T7r (4) G
81 | g iz =t Ag 3 W' F=yds Aag Et duv a1

(1) s yraat (2) w8 Taw (3) Tmetas (4) yeamEET
82 | f'grwe € wowen e faow v daw iRy der

(1) == 8 (2) FEd U (3) ugw feue (4) F8= fEue

82 | www Al few Aw 3 <0 wa F=yeEs s faggr
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| (1) afugea {2) us uR=ET (3) o (4) =" TaF
8 | pys fed G faow e de wer 3 7
(1) §8= vgs (2) 3== fou= (3) fou= uzs {4) g FER
85 | gfaw &t e fAu= & miaa faw =gt uadt afet 3
(1) y=ta= ot 2) aztas {3) ¥ifumr Uifipr {4) foy=t faeut
86 | g= vt div dert, TAvdt v fiver & 3t G =t faost e 34
(1) = T8 (2) gt Ir (3) ufost a8 (4) feodt 77
7 piwww 38w re five set faut fadt vee awet 3 7
(1) wEtae f=ut (2) mm=e feut (3) y=Fy feut (4) T femt
82 | gw fymdie @ gean
(1) faw (2) 7= (3= (4) 7
83 | wwE A fea wigere fedl faadl avere 3 7
(1) 1F& nimeEe (2) MuEs wEET (3) Hiat nimee (4) femrams nigee
30 |y § v wet s y=zat et 3 7
(1) Suamar (2) fait (3) fenraa=s (4) Fay BEt
SECTIOMN - B
MATHEMATICS (BILINGUAL) - 30 QUESTIONS [91-120)
91 The graph of the equation ¥ = =4 is a line
(1) parallel to x-axis {2) parallel to y-axis
(3] passing through origin (4) none of these
1 mfEEsy=—4 eavimard
(1) % - WEH © AFaT3d 12}y - WEH & RS
(31 HE-féT &8 gaeet 14} SugE= f=a avt =t &4t
92 In a two digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the
digits is 1/7 of the number, then the digit at the unit's place is
{1} 5 (2) 4 {313 {4)1
52 | &t el After few, wwet gt 3 fun e ufad e & Ul W &8 4 0 T Wt e d Afier |
e 1/7 &, 3 ufost wt 3 funy v
{1} 5 {2) 4 {3} 3 {4} 1
33 The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its
length is
{1} 60° (2) 45° {3} 907 (4) 180"
3 | paw € Gl BT i@, Ae e uge € ueeET €t et fen € dwet © v 9=, &
(1) 60° (2) 45" {3) @0” (4) 180"
M | Rational expression ::—:iin the lowest form is
-
94 ﬁsﬁmr ufaipsr f=oi -l
ﬂ-.;azu-m .;“-.:u.xa_i . atagel aParal
(2} el A== i} L v
a5 The volume of the greabest. sphere cut off froma l."'.l.i.l'li'r-l-til wood of base radius 1cm and height

Somis
i1 %{ﬁ!‘] em’ 12| %W““i (3) Ywcm’ (4) none of these
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195 | 1Cm fAET W 5 cm @ETEY @ wroe wEY 35 BEW ¥ w7 ¥F 3% e ownfeas O
(1) %{ﬁ'{jr_m’ (2] :-"Hcm’ (3) B em® (1) et feg a6t & &at
36 Sum of a number of two digits and the number obtained by reversing the digits of the first number
is 110. if the difference of the digits is 4, then the number is
{1) &2 (2) 73 {3) 84 {4} 51 .
36 | &t et Afumr B dw v uioEt Afieer & it § G & yuE A L0 T A et e T A Y
=t i &
(1) 62 (2) 73 (3) 84 {4) 51
97 The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other
number is
(1) &8 {2} 23 {3} 99 (4) None of these
37 | & dfipr=t B HOF 11w Lov 693 1 7 T Afimr 77 3, 3 T3t Afier O
(1) 88 {z) 33 {3) 93 (a) fem? fog et =1 &
The radius of a sphere whose volume and surface area have same value, is
(1) 1 umit {2) 2 units {3} 3 units {4) 4 units
fem 318 = fewrman, fn e wrfeas e AT g o As e I
i1) 1 gfsz i2) 2 gfse i3 3 gfse i4) 4 gfse
99 A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is
{1} 18 km {2) 14 km {2} 13 km {4) 12 km
39 | few et 12 km/fhr © TR &S AY g1 & @9CT 3 MF 9 Km/hr T IREE &8 SUR rdET T
# €% & fow faw gv At 2 w 20 fire afomr 3%, 7 gt flEY
{1} 18 km (2} 14 km {2} 13 km {4} 12 km
100 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.
(1} 10368 (2] 10432 (3} 10560 {4} None of these
100 | g wet =8t £1 3 221 Al e 73 AR § 16, 24, 36 w3 54 % Yt F7° 2o A
{1} 10368 (2) 10432 {3} 10560 (a) femt fog &7 =1 &t
101 | The average of seven consecutive numbers is 20. The largest of these numbers is
{1) 20 (2} 22 {3) 23 {4) 24
101 | ga gfim Afimret & Wing 20 & fegt fod me 3 S dfimr &
{1) 20 (2) 22 {3) 23 (4) 24
102 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?
(1) & (2) 7 (3) & (4) None of these
102 | F few fém @ Wi fega émfé'élfw#,afﬁﬁzﬂmﬂwﬁﬁﬂf?ﬁ{ﬁmﬁﬁmﬁ'

&

e 2) 7 e wfgtferadSan |

The circle graphgnﬂaﬂ here shows the-spendlrg fin ﬂeg-rees} of a country on various sports during
the particular year. Study the graph carefully and answer the next three questions. (0. NO. 103 -
105)

fed fie'ar fez 93 few foliw e s fait €w =8 fefdw @t e 30 wow (et fe &

wanEer 31 few fe'ze v fimrs &7 sifiis 79 »d w8 f35 yest @ § a9 feth
(Q. NO. 103 - 105)

Temmis
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103 | What percentage of the total spending is spent on tennis?
(1) 125% el 223% (3) 25% (4] 45%
103 | g= wad &t fdd yfzaaar 2fam Gue wew didt vt &
(1) u%% 12) 21%% (3) 25% (4) a5%
104 | If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket
and hockey together was
(1) Rs. 8,00,000 (2) Rs. 80,00,000 (3) Rs. 1,20,00,000 {4 Fis. 1,60,00,000
104 | & ww & Sava i@t G 1w A1t @% 9 2 waw 3, 3t fame wF ot §u fuer & wew At |
FEH HT:
(1) &,00,000 FUT {2) £0,00,000 FUE (3) 1,20,00,000 FuE {4) 1,50,00,000 FUE |
105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by
(1) Rs. 2,50,000 {2) Rs. 3,560,000 {3} Rs. 3,75,000 {4) Rs. 410,000 |
105 | & prg o et Gy vaw &1 58 9904 1,20,00,000 FUE 39 I oee 5 G s vaar 2fsw |
thm &3 vaw &8 ZaEa fdsr S T
{1} 2,50,000 FUE {2) 3,60,000 FUT (3) 2,75,000 FUE {4} 4,10,000 FUT
106 | A and B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B
alone can do this work?
(1) 5 (216 (317 (48 |
106 | A wF g fow du & 4 feat fow a9 mae 98 w3 A fea's fen § 12 fost few @ maer e femar
l s 216 LEI R 48 =
107 | The area of a square is 64 cm’ Then its perimeter is
(1) 64 cm {2} 32 cm (3) 46 cm {4} 48 cm
107 | femr =9ar €7 H=Fees 64 cm’ o1 few o ufawr &
11} &4 cm {2} 32 cm {3} 46cm 14} 48 cm
108 | How many carats are there in one gram?
{1} 3 (2) 4 (3) & {4) None of these
102 | fgm apH few @S dee o&:
(1) 3 2} 4 3] 5 ja) fewt few @t &dt
109 | What is the next number after the following? 4,9, 25, 49, 7
(1) 64 (2) 51 (3] 100 {4) 121
109 | g5 fafimt sooe wieret Afmr aft 3 4,9, 25,49,7
{1) B4 (2) 81 {3) 100 {4} 121
110 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
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[ {1) 10 (2) 85 (3) 15 {4) None of these
110 | 50 F»fT &5 oF w2 fov farw 20 3% G ol 35 wer fof gt @t yum e
(1) 10 i2) B85 {3} 15 (a) feef feg @t = &t
111 | What number should be put in the blank box?
7 |5 |9 |18 |
8 (3|7 |21
4 |3 |9 | |
7 |4 |B |28 |
{1} 9 (2) 27 {3} 36 [4) none of these
| yrut g feg faadt s Syt ot 3
7 5 |9 18
& 3 7 21
4 3 (59
7 4 |8 24
{1} 9 {2} 27 {3) 36 {4) feq® feu a2t <t &t
112 | Absenteeism can be stopped by:
{1} Teaching {2) Punishing the students
| (3] Giving the sweets (4] Contacting the parents
112 | dragredt § fam ot S 7 AEer &
(1) wifmems i2) fefenradinf & mar o=
(3) TR B e BT (4 ) W™ &7 Fuae SeaT
113 | The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is
(1) 20 (2) 15 (3) 30 (4) 24
113 | 5 pfyeret 1 wing 26 S14 fow Afier § &w fear w2, 3t fegt ot #ing 24 Al Afimr &
{1} 20 {2} 15 {3) 30 (4) 34
114 | A plot has width of 44 feet and length of 90 feet. What is the size of the plot?
|| {1} 500 squareyards __(2) 450 sguareyards (3] 440sq.yards (4] none of these
114 | fow ypre € ST 44 FEwd EwEt 0 FE NIuEE e AT At
(1) 500 =391 (2) 450 =391 I (3) 440 TH I i4) fegt foor &9t St |
115 | Which of the skills do you consider most essential for a teacher?
{1} encourage children to search for knowledge
{2} have all the information for the children
{3) ability to make children memaorize materials
{4) enable children to do well in tests
15 | wifgwruw &t AW 3 R gES S faoat et
(1) fefemmadim § famrs &1 69 B2t §anfas aaar
12) B g B8 Al Feat Uue adar
(3) 5faw fag =/ § O'E @95 o G
(4) Hiaw & uSy=T @9 99T US9as a96 & Wal 52T
116 | Inthe number 3.4625, the place value of the digit 2 is
(1) 1000 i2) 100 {3] 1/1000 {4} 1/100
116 | 3.4625 Afimr fre, 2 ¥ o w3
{1} 1000 {2) 100 {3) 1/1000 {4) 1/100 |
117 | Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not

necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, Eand G?
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(17 (2)9 (311 (4) Cannot be determined |

TITWE 1,2,3,4,5,6,7, 83 9§ fEniyg A, B, C, D, E.F, G Hw | g eamienr farr 3, ua |
gt &t far fegt e o Gt TR1&E, A+B+C, C+DAE, E+F+G i G+H+| fed gaw 13 E waEad di c,
Eng G e Ewat i
(1)7 (2)3 (3)11 (4) fagorfas =4t atar & Aaer
118 | Success in developing values is mainly dependent upon: |
{1) government (2) society {3] family (4] teacher
112 | femmds Wt fea resar vy 37 3 faw Bue fsaaa &
(1) AgET (21 AH i3 ufgea () wifTmE
119 | The HCFof [x — 1}, (x* — T} and {x? — L] is
(1) fx— T} (2) (x* — 1) (3) {x* — 1} (4) (x + 1}
119 | (r—13(x"—1) ¥ (- 1) erucrd
[ (1) fx— 1} @{=*-1) (A f="—=2) {4) fx+ 1)
120 | One of, the students of a class hardly talks in the class. How would you encourage him to express
himself?
{1) By organizing discussions
{2) By organizing educational games; programmes in which children feel like speaking
{2} By giving good marks to those who express them'selves well
| (4} By enco uraging children to take part in classroom activities |
120 mhhhbumﬂq:uﬁmlw tliﬂﬂa#mﬂwﬁm“:m '
fa=" Gawlaz a3t
LT T WEIs g |
i2) fRfumave Y= /AIErHT @ »MEas a4 J (98 59 5827 URT g4¢ 75
(3) 85 & 99 ww © & fagz wruE iy § SEit 397 fenes aae a5
i4) 5fawr & aE R gy astf=um few fow 8= = ra Ganfog aw &)
ENVIORNMENTAL SCIENCE - 30 QUESTIONS (121-150)
121 | Which of the following is a biodegradable waste?
{1} Plastics {2) Polythene (3} Glass {4) None of these
121 | = feit fed faw & fewag § goaat 3& 58 (biodegradable waste) § aBTenm A7 Faer & |
(1) usTHieE (2) Efas (3) IBH (4) fegs™ fo &t =4t
122 | What is BOD.?
{1) Biochemical Oxygen Demand in 5 hrs 2] Biochemical Owygen Demand in 5 days
{3) Biochemical Oxygen Demand in 5 months {4) Biochemical Oxygen Demand in 5 minutes
122 | pop, &t T 7
(1) ITETS @HiEE nranRtas §THE 5 We (2) STETS dviEas wrantas gt s few
(1) TEYE Al wrERtaE FIWE S WTE (4) TETS viEs srantEs #vE 5 fise
123 | Dachigam Mational Park is in which state?
{1} Himachal Pradesh (2] J&K {3) Tamilnadu {4) Sikkam
123 | griflaw awedt waw faasd aw fea a7
_ (1) fonres ugew (2) Ay mI aEmitE (3 Theag 14) fafay
124 | Which of the fullmmng has greahest aﬂimt\r for haerrmgbbm?
(1) co (2} NO (310, {4) Co,
124 | fegst &9 fan €t dinoBels &8 Aig 3 SUASS O 7
1) CO (2] NO (310, i4) €Oy
125 | White lung cancer is caused by?
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[ (1) Asbestos {2) Paper (3) Texti {4) Silica
125 pietwweo iR asied?
| 1) HFERETH i2) i (3) FaACEIS i4) fafsar
126 | Whao started the Chipko Movement?
{1) Kiran Bedi {2) 5. L Bahuguna {3) Medha Patkar {4) None of these
126 | “fquit Weees " fan & gg dta ?
(1) faraw et (2)WH. WS, SgIET (3) HOT uFEE (4) feaw? fod &t &t

127 | London 5mt.:g is found in?
{1) Summer during day time
{2} Winter during day time

{2) Summer during morning time
{4} Winter during morning time

127 | gumetdead getd?
(1) Tt foa fem & e
(3} AgeT o fom 2 R

i2) T feg AT =5
(4} Age fog A=d =8

128 | The first nuclear disaster occurred in the history of world on
(3) 06" August, 1945 (4] DB August, 1945

{1} 16" August, 1945 (2} 26™ August, 1945

128 | pre ¥ featom fufe ufosh yavrg wuer o’

{1} 16 »aETHI, 1945 (2} 26 MaTHA, 1945

Ut A

(3} D6 WaTHE, 1945 14) D8 naTHg, 1945

129 | How much percentage of water in the oceans is drinkable?

(1) 97.2% (2] 2.15% {3) 0.65% {4) 0.0%
123 | miee v fd@d yFeg vt vtz dard 7
(1) 97.2% _{2) 2.15% {3} 0.65% (4] 0.0%

130 [A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called?

{1) Polar stratospheric clouwd
{3} Both (1} & (2)

{2) Polar Vortex
{4) None of these

130 | mygwy Wes few oo o 3 o= froe eraferr § U TR Y Qo ataoler & ¢

(1) I%7 Accredid a8oF (2) =g =dcan

(3= (LT (2) (4) feast feg et &dt
131 | Bhopal gas tragedy occurred due to?

11} Methane {2) Phosgene

{3) Methyl-isocyanate

{d) Methyl amine

131 | Fym 3w wz=r fae &% wieEt ?
(1) HiE (2) SHAE

(3) HIgE oritAaETEta e (4) HITE sHEls

132 | Which book has been prepared by International Union for Conservation of Nature and Natural

{1} White Data Book {2) Red Data Book

Resources (IUCN) concerning endangered species of plants and animals?

{3} Blue Data Book {4) None of these

132 | gogg »ia geadt iMUEt (IUCH) & foeraa BEt Wiadamedt i & gu= T St et s

(1) =Ele g2 59 (Few ¥e fagm)
|3) T Frer 59 (BTt @ fagm)

Fewe & fay faw faoet faaw e atat 0 7

i2) 3% g g (&7 e fag)

14) feast fos &t aat

133 | The BISHNOI Sect was founded by
{1) B. R. Ambedkar
{3) Guru lambheshwar

{2) Bhajan Lal
{4) King of Jodhpur

133 | fyg&Eet fiyae® faad marfuz diar At ¢
(1) 8. w9 WETEd  (2) 996 B8

(3) TF AHEH=T (4 AT U eI

134 | Moise pollution (Regulation & Control) Rules 2001 deals with?
{2} Noise pollution due to loudspeakers

{1} Noise pollution die to fire crackers
{3) Noise pollution due to public address system

{4) Bath {2) & (3)
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134 | 3w yagee (wfahio wd oy) famw 2001 fd & T
(1) Tyt 3 38T uagHEE (2) 597 milas J 387 uagEE
(3) Fraediaa AR 1E&E] 3 387 IggRE (4T 2w (3)
135 | When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special |
division to develop a green belt around Taj Mahal?
{1} 2004 {2} 1994 {3) 1984 {4} None of these
135 m%mﬂrﬂzimnﬁxémﬁ—w&aﬂhﬂzzwﬁzaﬂmﬂimm
Faewimfesy
{1) 2004 {2) 1994 {3) 1984 |4) feast fea a6t &t
136 | When was PROJECT TIGER launiched?
(1} 2011 {2} 1970 (3) 1973 {4} 2007
136 | iffwe zvetaw e g dfewr ?
(1) 2011 {2) 1970 (3} 1973 {4) 2007
137 | What type of radiation is trapped on the earth's surface h\rthe gn!en house effect?
{1) UV rays (2] y -rays {3) X-rays {4) IR rays
137 | gadt &t AaT 2 9l TN ) yErlee aee wel faust =fafae 3 4 7
i1} uv faa=t i2)y -fag=t i3) % faa=t i4) g fag=t
138 | Which of the following is responsible for global warming?
{1} Chloro-flouro carbons {2) Methane
3] Carbon dioxide {4} All of these
132 | 35 fefunt fod' aBus wafitar ewa d= fitea 3 7
_ (1) FBI-TH/I TI8s i2) fuEs (3) aTI9% SEPIEAET 14) G fow A
139 ngll concentration of which of the fnlluwmg causes leaf curllng,. Ieafdmp and reduced leaf size in
plants?
(1) 50, {2) CO {3) NO, {4) None of these
133 | faws &9 fan &t B9 fearamar, ¥ aafidar, ﬁﬁwﬁ%mmWﬁﬁmw
adE g2 d 7
(1) 50; (2) co (3) NO: 14) feawt fow a8 &dt
140 | Silent Valley, which has been raised to the status of Mational park, is situated in?
{1} JEK {2} Tamilnadui (3} West Bengal (4} Kerala
140 |y wit (silent valley) fARE aEedt wam & oaqr fear famir & @ fad mfda 3 7
_ (1) AywTEmfls () ThiEag (3) uEEHt farE (4) ST
141 | Which of the following devl:elsl is used to control parhculate pollutants?
{1) Gravity settling chamber {2) Cyclone collector
| {3) Fabric filter (4] All of the above
i numamm&smmmhmmmmma 1
(1) Taf=t Fefdar 9HeT (I aons GlUe's a8 (2) FElas = abaed
(3) e5fdw femea s hmfEy AT
142 | Environment Impact Assessment|EIA) was formally established in USA in year
l 1) 19/ _(2) 1969 1371 141973 .
142 | graveas yFfed Ad2l (Environment impact assessment) sitdtar (€9 faas 7s Aefuz st
et ?
{1} 1967 (2} 1389 {3) 1971 (4} 1973
143 | The Greenhouse effect was first recognized by?
{1} Jean-Baptiste Greenwood (2] Jean-Baptiste Fourier
{3) lean-Baptiste Greenhouse {4) Mone of the above
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143 | getw TR &y & uwrE AT 3 ufost fdE ot 1
(1) Hiw-tifers Ity 12) Hin-tufere Sfan
(3) vis-Hufene adts TEwR i4) feast fea” &t &at
144 | Which of the following acid is present in Acid rain?
(1) HNO, [2) Hy504 {3} CH;COOH {4) Bath (1) & (2)
14 | g7 fafiput fod vetw =ay fo faue g wlfew grer 3 7
(1) HND, 12 H,50, (3} CH,CO0H (48 (1) (2)
145 | Ten percent law is given by
| [{1)Lindmann {2) Goldmann {3} Backmann (4) None of these |
145 | g tlﬂ'li I‘F {Ten percent law) faR & fa'gr 7
i1) féare i2) TATEHE 3R §'r i4) feast fo a8t =t
146 | Traces of radioactive waste present in water can cause?
{1} Cancer {2) Eye cataract {3) DMA breakage {4} All of these
188 | 2t fegwd 7= =@ IEP0l 53 @ I8 (traces of radioactive waste) fai & arae 5= mare |
hr
(1) &Fg (2 iyt o d=ter fET (3) DNA &t 27 B2 14} thia fey Arg
147 | Everyone has the right to a Mationality is covered in .o, of Universal Declaration of Human
Rights 7
N {1) Article 10 (2} Article 15 {2) Article 20 {4} Article 25
147 | gafaf § amedmi@r Evd @ fea dWimeT wa Wt Ief &8 feut 391 3 (universal
declaration of human rights)
I L R oo (R P R o 0 N L - 2 D I L i L 1
148 | Which of the following is a non-governmental organization dedicated to wildlife conservation?
{1} Werld Wildlife Fund for Nature, INDI& {2} Indian Board for Wildlife
{3) National Wildlife Action Plan {4} All of these
18 | 5 fehput fod' fagar daneardt wamar Aot st afipwr B6t 2ose T 3 7
i1) 3= fog Ara € goaat JoEt diet Bvt &F (2} Fit Iftpur BET T3St GaF
i 3) I HES st i afasratast GeeT i4) Gua fed g
149 | How much area is covered under forest in India?
(1) 33.47 % (2} 29.47 % (3} 22.47 % (8] 19.47 %
133 | gz e vaea e a3 fdd (@iea d ¢
11__|-__3_3-.ﬂ?% {2) 29.47% 13) 22.47T% 4] 19.47%
150 | The situation of depletion of Ozone layer is referred as OZOMNE HOLE, if the ozone level decreases
below
___|{ysooou (2) a00 DU (3} 200 DU (8) None of these
150 | Freg #ew RaW (Ozone layer) fom & wt st weeh ot 3t faow oeat fa'e wite o weet wae
WiE I8 Wt FEa ?
(1) 800 DU {2) 400 DU {3) 200 DU (4) feast fo aet &t
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NOTE:

{i} There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language - 30 questions and Punjabi Language - 30
guestions. There are 90 questions in total in Section—A in which the Child development and pedagogy is
bilingual.

{ii} Section B comprises of Mathematics — 30 questions and Environmental Studies — 30 guestions. The Section - B
iz bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

1 The best method to study growth and development of the child is:
{1) Psychoanalytic Method {2) Comparative Method

|| 3) Developmental Method {4) Statistical Method
1 ud € feft s feaw e wifinits @es € ig 3 =t fewlt &

1) HA-femEr=Tava f=dt i2) FEEIHE f=mt
(3) feam=va fet () Aifymrat Tt
2 Vygotsky proposed that Child Development is:
{1} Due to genetic components of a culture {2) A product of social interaction
{3} A product of formal education {4} A product of assimilation & accommodation
z fearawat o gy At fe o feam &
i 1) AAfg=T © A=fag I3 a9 2 ) AHTAE wigatawer ot Gue
(3} Erra fafymr ot Gue i4) AHtaEs g wigases ot fue
3 Socialization is a process by which children & adults learn from:
{1) Family {2) School {3) Peers {4) All of these
3 e fea yfemr o fan et €9 »iF oga faw 3 fined a5
L |0 ufe=a (2) AFE (3)-gaur At (4) QuaEIHad |
a If a child has mental age of 5 years & chronological age of 4 years than what will be the 1Q of child: |
11) 125 {2) 8D {2} 120 {4} 100 |
4 | 5 few o5 2 vl wg 5 e v aEgfie g 4 e 3, 3 EY T At g2
{1} 125 {2} 80 {3} 120 {4} 100
5 What should be the role of teacher in meeting the individual differences:

{1) Try to know the abilities, interest & aptitude of individuals
{2} Try to adjust the curriculum as per the needs of individuals
{3) Both (1) & (2)
{4) None of these

5 | fat vade was SEl nifterum € ot ghvar g2t et & |
(1) femESter g Garg=, 391w ufeaat § a2

i2) fewEsmt o 837 wigRe Ueay § 9827

(3T (1) WF (2)

l 4} Q‘Uﬁﬂ? foa avt &t &4t 3 ) )
6 Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child's Development:
{1) Development is from head to foot {2) Development is from foot to head

{3) Development is from middle to periphery  {4) None of these

& w4 ¥ femw ¢ fig-uepdt fanta € »iggs fags aus At &
iNnfeawfmIilvsadeg i2feamim s fmaadey
i3)feamHT T Iw dur I 14) fegt faa’ et = &at
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7 Which of the fullnwmg is the true statement in reference to intelligence:
11} Intelligence is the ability to adjust {2} Intelligence is the ability to learn
{3) Intelligence is the ability of Abstract Reasoning {4} All of these
7 §ot & iy e feowr aws At O
(1) 0 WEgs g9 2 AT J i2) got fAius &t Garar T
(3) 5O FYH Faa = @araT J i4) Gudez Ara Ot
8 Which of the following is not the tool for Formative Assessment in scholastic domain:
{1) Conversation Skill {2) Multiple Choice Question
3] Projects {4} Oral Questions
8 fafimrave ta3e few sua = yatas o Guass faosr &9t &
1) THITEY FEE ST i2) gg-f=amit 9= =5 yas
(3) Fae 14) Hivm yEs
3 Term PSRN in development implies:
{1) Problem solving, reasoning & numeracy (2] Problem solving relationship & numeracy
| | {3) Perceptual skill, reasoning & numeracy (4] Perceptual skill, relationship & numbers.
8 | feww fag PSRN UE & HEBW &
{1} Problem Solving, Reasoning & Mumeracy {2} Problem Solving Relationship & Numeracy
{3} Perceptual Skill, Reasoning & Numeracy {4) Perceptual Skill, Relationship & Numbers
10 “# Child can think logically about objects & events" This is the characteristic given by Piaget of stage:
{1} S5ensory Motor {2) Pre Operaticnal 13} Concrete Operational {4) Formal Operation |
YT TRt wid wesTet wrd Fafa @9 & e AaeT 4" few fetima fiere =8 faodt s
wet fe'at amt
(1) =t g (2) UaE-AaEat (3 AES AFSaT (4) SUTaE FOES
11 Which of the following does not belong to the categories of Coping strategies that women
commionly engaged in:
| {1} Acceptance (2) Resistance {3} Revolution (4] Adaptation
11| faowr @5t Ao garat EWMWMMMMWWEI#WMW
(1) Atfa =t i2) yfsaw i3) =t (4) WEAEE
Frobel’s most important contribution to education was his development of the:
{1} Vocational schoal  |2) Kindergarten {3} Public School {4} Latin school
% v fafipr § Ae 3 & v F=yes daes Bren
i1) fe=miea Fas o feam A i2) fdwmaraes = fe=mw At
(3) yefea mas o feam At 14) Bfew mam & fegm At
13 Which article enjoins that "All minorities whether based on religion or language shall have the
right to establish & administer education institutions of their choice”
{1} Article 29{1) (2} Article 29{2) (3} Article 30{1) (4] Article 30{2)
13 | fgas migew few foo fe=ner fa, “md mimu-ifrwe ovd G0 9 2 wrorfag o8 A/ |y §ua,
gt & »mt wie & et & A AarfuE o Bine a9 e mifmere &
| |e@Ee 28(1)  (2)w@EEE29(2)  (3)wEEE 30(1) (4) WEET 30(2)
14 In l'_'CE Formative & Summative Assessment totals to:
11) 40% & 60% respectively {2) 60% & 40% respectively
{3) 50% B 50% respectively {4) None of the abowve
| coe feu, o avE o AEEE"IHE B o7 B8 A5 &
(1) THET 40% =T 60% (2) SHET 60% M 406
{3} HET 50% T 50% i4) Guges foa a6t =t &4t
| 15 A few students in your class are exceptionally bright, You will teach them:
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{1} Along with the class {2) Along with higher classes
3] By using Enriched programmes {4) Only when they want

Faat e fea gy fefenradt feliw 37 3 gdhrs a3 2T B5F & ugraar:

(1) 38R T & i2) Gadtel aEH &S
(3) AfT {@rHT &f =93 a9 a9 4)3=% §7 A7 ST 9=

16

Determinants of Individual differences in human beings relate to:

{1) Differences in Environment
{2) Differences in Heredity
{3} Interaction between Heredity & Environment

{d) Both Heredity & Environment interacting separately

wa yt feg faat vadet & fsaoraw faw & mifog o=

i1} ufger=as fea wiaa
i2) feama fea =g
13} feamma wiT ufgwr=aw fog wigafamr

i4) TY T I &F WiFelawr @9 3 F% =TT wF ufewrsas

17

Gardner formulated a list of seven Intelligencies, Which among the following is not one of them:
{1} Spatial Intelligence {2) Emotignal Intelligence
{2} Interpersonal Intelligence {4} Linguistic Intelligence

17

IAIFET & HF Tabt 2 geit w2 J fefert foa fomr faast &1 2
(1) AEfag §UT(2) T aHa 50 (3) Wigg-fenmfga gt (4) IEET 5Ot |

Creative writing should be an activity planned for:
{1) Only those children reading on grade level

{2) Onky those children spell & write cohesive sentences
{3) Only those children who want to write for newspaper

{4) All children

Faa=ve Buz few arsifel 3=t ol @ fam o e fagt &9t 3=:

NEEstree Mo i@ dss I I W Os

(2} 3% G ¥ (A0S mee-v= 3 AEad =4 (5Y Aae 76

[3) I8 §7 ¥4 »HEd 5E fEywET ane aw
i4) A B

19

If a child writes 16 as 61 B gets confused between b & d, this is case of:
{1) Visual Impairment  (2) Learning Disability  {3) Mental impairment (4) Mental Retardation

19

AETsifisfmringona dfeuGerae ), fmfamean '
ferdfeaa ) fiye faadee (vwfmafeas () wafra seag

20 TIEnajnr purpose éi'-l.iiagnusﬂt test is that of IdentihﬁlE:
{1} The General area of weakness in class perfformance
{2) Specific nature of remedial Programme nesded
{3) The causes underlying academic difficulties
{4} The specific nature of pupil difficulties
20 | fsefew wWivz vy Ag= A St uess aaa & :
(1) %R ¥ Yyodus fE9 awadt e gas ¥a3T (2) gt Suadt Uapw ot feam ufaast
i 3} niErefug yefast © aas 1 4) fefommagtni Tt yafast @t fomm yfesst |
21 Special education is related to |
{1} Educational for talented students (2} Educational programmes for disabled
{3} Training programmes for Teachers {4) Training programme for retarded

21

feim frfir faw &= Aifoa 3
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(1) mfaﬁwawmfnfumm
i2) fatar fefonmadter ot fafioer Ty
i 3} nifmuat =6t frusTet dapdy
i4) =g T fefonragter =8t frusTet Tary

Which of the following Motives are considered as primary motives:

{1} Physiclogical Motives {2) Psychological Matives

{3) Social Motives {4} Educational Motives

forow it & Yt yoers faor wier

(1) Adta-fefamras yaws i2) HEf=famrsa Uads

(3) AHHE UGS i4) frfemrava yaws

Cognitive Development means:

{1) Development of intelligence {2) Development of child

{3) Development of Physical Skills {4) Development of individual
Afemrarara feaw e wasy &

(1) g0t =7 feaw (2 859 = fEarw

(3) Adted GRS ST = fEa A 14 fewmat = feaw

Which of the following are the External Factors affecting the interest of students in classroom:
{1) Emotions & Sentiments {2} Cuilture & Training

{3) Attitudes of students {4) Goals & motives
aEwHgH few fefenmadindt &t femamit § yerfea mas =8 woad aaw faws o=
(1) 77 niT GoarT i2) Arfaat T frasTet

( 3} fefommadtet St yfeagimr (4) Taw wF GO

It is said that teacher should be resourceful, This means that:

{1] He should have emough money E property so that he may not have to take up tuitions

{2) He should have contacts with high authorities so that he may not be harmed

{3} He should have adequate knowledge so that he may be able to solve the problems of students
{4) He should have good reputation among students so that authorities may not be able to take any
punitive measure against him

g faar At § fa ‘sifrus Aos-Als T2 avdter Jf fen e w3y o fa:

(1) SR A% #iw I\ o arfeew o= fa Gn § fefost & agatr I

i2) G e 8 witardte m8 mE T2 I e G o sans 57 T AE

(3) SR a= Gugas famrs 9= = fa G =fowragiv & aifareT § 0% a9 /a )

i4) Gn <t fefowradtet foa St yfzms 7= =2t fa sfterat 8w © fume &t S3a3vg gaset &
&3 A=

As a teacher what technigues you would follow to motivate students of your class:

1. By setting induction 2. Useof black board

3. By illustration d. By active participation of students
11:I 1.2&3  (yi&4 00 13] &4 o 14]Alln‘fthE5E —
i = FHT W aETH @ h‘l’awmfi i[fairm T faasort Fuatat @t <9
wadr:

L yAF=a feaad 2 584 §aF o =95

3 femerat ot 4 fefonrading & AogRy BHETE adT
(1)1, 2% 3 i2) 1M 4 (3) 20 d i4) GuFE= AT at
Who was the pioneer of Classical Conditioning:

11) Skinner {2) Paviow 13) Watson {4} Thorndike

HEHIE! MEEES F Ud=da g2 H:
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- |iAfEm 2)i=Ee (3) SEHE (4) HawETEE
28 The term |dentical Elements is closely associated with:
(1) Similar test questions {2} Jealousy between peers
{3) Transfer of learning {4) Group Instructions
28 | 'myrE 23 uw o famead i fam &8 &
(1) AW uEtfymr yes i2) IH-FI% feaama Fayr
131 fAve v araags i4) AHaa frfmr
29 What are the factors related to learner that effects the learning:
(1) Physical & Mental health of the learner {2) Level of aspiration & achievement motivation
{2} Readiness & Willpower {4) All of these
13 | fwfpradt & fifos faed arew o= e Wy Gue v wlie o=
i 1) frfumiadt = Adtew »iF Wafe ReRE (2) siEtfyer »F Susant sifgieEs & um
| |Gissuarwafie-aadt __ (MGuiwawad
30 An intelligent student is not doing well in studies. What is the best course of the action for the teacher:
{1) Wait till he performs better {2} Find out reason for his under achievement
{3) Give him grace marks in the examination  {4) Ask his parents to withdraw from school
| 30 | giftws fenvadt ugret aig It &0t ae foam ) sifmrue =R aaee ©f ie 3 Gage fet ot &
(1) fsisr g 87 & uges 5939 541 0 9T, O feg feggw &g
12) 9 & W GuSEnt 2 @798 HEH ad
1 3) it few B § feorfest v fel
14) 8w & Wi § 0 fa 87 § ras fed oev 8=
EMGLISH LANGUAGE — 30 QUESTIONS (31-60)
Read the passage carefully and answer the questions (0. 31-37) that follow by choosing the best
alternative:
In these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only
energy source that is still immune to price fluctuations: the Sun. Economic necessity appears to be
largely responsible for the rapidly growing acceptance of solar heat as an alternative source.
Electricity has been a clean and versatile form of energy that continues to grow in importance for
lighting, heating and cooking, and for powering our increasingly automated and computerized
society. The demand for electricity is expected to grow more in future than the average trend in the
past. A mix of energy sources is required as hedge against shortages in any one area, and the
electricity supply companies are taking a second look at renewable generating technologies,
particularly those based in the sun. Every 15 minutes, the sun delivers to earth radiant energy to
meet all mankind's power needs for a full year. But harnessing this energy is complicated by two
properties of sunlight: its diffuseness and its variability with time of day, season and weather
conditions. These factors pose formidable technical challenges for the efficient conversion of solar
radiation into bulk, utility grade electric power. Nevertheless, solar technologies are attractive to
utilities because they are environment-friendly and offer a low regulatory risk, limited capital risk,
and less lzad time.
31 | Why are experts, according to the passage, looking at the sun as an energy source?
{1) due to depletion of other sources of energy (2} as other energy forms pollute the environment
{3} increasing costs of other sources {4} all of the above
32 | Experts are impressed with the solar energy technologies because...
{1) of them being good for the environment {2) they reguire less investment
{3} they can be employed in quick time {4} all of these
33 | Why is sun such an important source of alternative energy?

| {1} it is available free of cost
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{2) it is available everywhere in the world

{3} it can satisfy human energy requirements alone if tapped properly
{4} all of these

34 | What is the major difficulty in employing solar energy?
{1} fluctuations in weather {2} by nature sunlight is diffuse
{3) sunlight varies from time to time {4) all of these

35 | Why are power generating companies looking at mix energy options?
{1) the sources of energy are getting scarce but demand is increasing
{2) government is controlling prices of electricity
{3} alternative sources of energy are available free and without regulations
{4} all of these
Identify the word closest in meaning to the word: "VERSATILE™
{1} limited {2} resourceful {3) permanent {4} invariable

37 | Identify the word opposite in meaning to the word: “FORMIDABLE"
{1} alarming {2) frightening {3) terrible (4] insignificant
Read the passage carefully and answer the questions (0. 38-45) that follow by choosing the best
alternative:
The political system always dominates the entire social scene; and hence those who wield political
power are generally able to control all the different social sub-systems and manipulate them to their
own advantage. The social groups in power therefore have always manipulated the education
systems, especially when these happen to depend upon the state for their very existence to
strengthen and perpetuate their own privileged position. But herein lies a contradiction. For the very
realization of their selfish ends, the social groups in power are compelled to extend the benefits of
these educational systems to the under-privileged groups also. The inevitable task is generally
performed with three precautions abundantly taken care of: One, the privileged groups continue to
be the principal beneficiaries of the educational system, dominate the higher stages of education or
the hard core of prestigious and guality institutions or the most useful of courses, so as to safeguard
their dominant position of leadership in all walks of life; Second, the system is so operated that
under-privileged groups can utilize it only marginally in real terms and the bulk of them become
either dropouts or pushouts and get reconciled to their to their own interior status in society; Third,
the few from the weaker section that survive and succeed in spite of all the handicaps are generally
co-opted within the system to prevent dissatisfaction.

38 | Who, according to the passage, can manipulate the systems to their advantage?
{1} social activists {2} popular people
{3) political powerful people {4) all of the above

39 | How do socially powerful people try to maintain their privileged position?
{1} by maintaining control over political systems {2) by maintaining control over social systems
{3) by maintaining control over education systems  (4) all of these

40 | Why underprivileged sections have to reconcile to their inferior status?
{1) they are unable to effectively utilize the education system
{2} they hawve no interest in the system
{3) they are illiterate
{4} all of these

41 | Which is the best explanation as to why the few from the weaker section that survive and succeed
in spite of all the handicaps are generally co-opted within the system?
{1} to prevent the revolt in the society {2} to satisfy their instinct
{2) to augument the position of the privileged class {4) all of these

42 | Which system, according to the passage, dominates the social system?
{1} political system {2) education system {3} caste system {4) monetary system

43 | Identify the word closest in meaning to the word: "PERPETUATE".

{1} abort (2} ruin {3) continue {4) omit




_wwwLrecruitment JUY
|I:|EI'I‘tf!1j the word nppuslte in meaning to the word: “P GIDUE'.
{1) obscure {2} influential {3) esteemed {4) impressive

What is the major idea reflected in the passage?

{1} powerful people are unable to fully control the system

{2} major benefits have been snatched by the underprivileged
{3) both of these

{4) none of these
| a6 Find the appropriate preposition to fill in the sentence: She lives ....... Mumbsai.
{1} at (2} im {3} into {4)on
| 47 Jm/ sound in the word ‘'make’ is....
| {1} labio-dental {2) dental (3} bilabial {4} alvealar
| a8 While writing a notice, the writer should prefer...
) {1} active voice  {2] passive voice __[3) any voice (4] none of these
| 49 Which of the fulll:nmrg Organs ufspeed‘l is also known as 'VELUM'?
{1} hard palate {2) voice box (3) alveolar ridge {4] soft palate
| 50 Where will you add disclosures in a letter?
{1) below the signature and the right side margin
{2} below the signature and the left side margin
{3) above the signature and the right side margin
{4} any of these -
| 51 The major difference between an 'ARTICLE' and "SPEECH is....
{1) speech is more formal (2} speech is more informal
{3) speech is more descriptive {4} all of these
| ‘Phonetics’ is basically associated with...
| {1} sounds (2) sentences {3) grammar {4} all of these
| 53 Communicative Language Teaching replaced basically...
{1) Natural Language Processing {2) Structural Teaching
| (3] Situational Language Teaching [4] Mativational Teaching
e e teathmg Lot AL
{1) fills the gap that creeps into a pupil's learning
{2} rectifies the concepts which have been misunderstood
{3} helps in retaining homogeneity in the class
{4} all of these
| 55 Find the word nearest in meaning to : REMORSE
L (1) obdurate (2} hard (3} penitent __ (4) none of these.
| 56 Learning a language is a...
{1) gradual process {2) fast process {3} instant process {4) all inclusive process
| 57 Find the word opposite in meaning to : INSIPID
{1} impalatable {2} bland {3} tame {4} savoury
| 58 Study of meaning in a language is known as...
| | {)syntax (2} semantics ~ (3) morphology {4} limguistics
55 Identify the correct p.asshle wvoice of the sentence: Obey me.
{1} 1 should be oheyed {2} Let | be obeyed
{3) both, aand b {4) none of these
| 6O "REGISTER" is...

{1) variety of language according to region in a particular country
{2} variety of language according to countries

{3) any of these

{4) none of these

| PUMIABI LANGUAGE — 30 QUESTIONS (61 - 90}



http://www.recruitment.guru/

	PSTET-Paper1-FINAL-Master-B_009.pdf
	PSTET-Paper1-FINAL-Master-B_010.pdf
	PSTET-Paper1-FINAL-Master-B_011.pdf
	PSTET-Paper1-FINAL-Master-B_012.pdf
	PSTET-Paper1-FINAL-Master-B_013.pdf
	PSTET-Paper1-FINAL-Master-B_014.pdf
	PSTET-Paper1-FINAL-Master-B_015.pdf
	PSTET-Paper1-FINAL-Master-B_016.pdf
	PSTET-Paper1-FINAL-Master-B_017.pdf
	PSTET-Paper1-FINAL-Master-B_018.pdf
	PSTET-Paper1-FINAL-Master-B_001.pdf
	PSTET-Paper1-FINAL-Master-B_002.pdf
	PSTET-Paper1-FINAL-Master-B_003.pdf
	PSTET-Paper1-FINAL-Master-B_004.pdf
	PSTET-Paper1-FINAL-Master-B_005.pdf
	PSTET-Paper1-FINAL-Master-B_006.pdf
	PSTET-Paper1-FINAL-Master-B_007.pdf
	PSTET-Paper1-FINAL-Master-B_008.pdf

